
#Calc : Exar1 Thursday
Last week H

= rector valued function

Cl = 'Ct) = Velocity
= targent

alt= "(t) = acceleration

lspeedl

initial speedIwina
-

(H = <(Vocosc)t , (vosinalt - Egt)
↑

Gravita



↳------veo
What angle000 get
(T1 = <(200csd)t , (1200sinc)t-1652)

X Y

y
= 0 = t = 0 , 1st

Want x = 3000 when y
=0
,
ve ,t= Rosie

so 3000 = x= (1200cosa)(1st
300 = 75 . 1200

cosine

=00 = cost

So it= Zeussing= sin 2

-2= arcsint =



22 = 3 .82° = 2
= 1 .910

(Also 21
= 1800- 3 .82= c= 20 -1 .91 (= 88

.
098

S 86 12 .
4

stricta
once by (t) for a = tEb

17

·
L

X

Man A leath = levate =)vid+
Ex -y



FH = < 0 . 3 costi Ssirt) ,
Oct

Auclemat = (*d=Joint
- (32+= 34 3

Check : Circle radius 3 has
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Can visualize cure :

Observe : X +y
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x2 + y + E =
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How right are the turns ?

What is the radiusof the



best-fit circle at each point?
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Curvature

E Find curvature of red circle in

Ex] at t=2.
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(a) End curvature at D , d)

(b) Where is currative largest ?
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radius of currative is 58 = R,
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